

$$2) \frac{dy}{dy} - 6y = \sin t \quad \text{at } y=1, t=0$$

$$3sy(s) - y(0) - 6y(s) = 2 \sqrt{s^2+4}$$

$$3sy(s) - 1 - 6y(s) = 2 \sqrt{s^2+4}$$

$$3sy(s) - 6y(s) = 2 \sqrt{s^2+4} + 1$$

$$y(0) (3s-6) = \frac{2+3\sqrt{s^2+4}}{s^2+4}$$

$$y(s) = \frac{3s^2 + 4}{(s^2 + 14)(2s - 6)}$$

$$\frac{3s^2 + 4}{(s^2 + 4)(3s - 6)} = \frac{A + Bs}{(s^2 + 4)} + \frac{C}{(3s - 6)}$$

$$\text{At } C, 3s - 6 = 0$$

$$6 - 5 = 3B - 2B$$

$$1 = B \therefore B = 1$$

$$A + 1 = 2$$

$$A = 2 - 1$$

$$A = 1$$

$$y(s) = \frac{1}{s+2} + \frac{1}{s+3}$$

$$y(t) = e^{-2t} + e^{-3t}$$

2) $3 \frac{dy}{dt} - 6y = \sin t$ at $t=0, y=1$

$$3[sy(s) - y(0)] - 6y(s) = \frac{1}{s^2+1}$$

$$3(sy(s) - 1) - 6y(s) = \frac{1}{s^2+1}$$

$$3sy(s) - 6y(s) = \frac{1}{s^2+1} + 3$$

CHADIMESI O. MAYLOWA

151ewqoz1012

Computer Engineering (Ass 5)

1. $dy/dt + 3y = e^{-2t}$ given that $-1 = 0, y = -2$

$$x' + 3x = e^{-2t}$$

$$\mathcal{L}[F(t)] = s \mathcal{L}[f(t)] - f(0)$$

$$sY(s) - y(0) + 3y(s) = 1/s + 2$$

$$sY(s) - 2 + (s) = 1/s + 2$$

$$sY(s) - 2 + 1/s + 2$$

$$sY(s) = 1/s + 2$$

$$3A - 6B = 0$$

$$3A + 6(-1/6) = 0$$

$$A = -1/6$$

$$Y(s) = \frac{-1/6}{(s^2+4)} + \frac{13/4}{(s-6)}$$

$$f = \frac{-1/6}{(s^2+4)} - \frac{13/4}{(s-6)}$$

$$= -1/6 \left(\frac{1}{(s+2i)} + \frac{1}{(s-2i)} \right) + \frac{13}{4} \left(\frac{1}{(s-6)} \right)$$